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[2] Choose the most appropriate word(s) for each sentence and mark @, @, @ or @ on the answer

sheet.

(1) The film was inspiring and the ending was sad enough to make 2 grown person ( ).

@ cry ® cryving @ cried @ tocry 4

(2) There is a lot of debate about the new test. This is the point {( ) opinions are divided.
@® when @ where & which @ why 5

(3) The shops in the mall will ( ) a 30 percent discount on all goods starting next month.
@ cut @ fall ® offer @ reduce 6

(4) Two weeks later the students finally { ) the homework.

@ gave out @ got out @ keptup @ turned in 7

(5) The young scientist was sick, ( ) she would not have given up the work.
@ although @ besides ® otherwise @ unless 8
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[3] Complete the following sentences by putting the most appropriate Word (s) in each space. Then mark
on the answer sheet the corresponding numbers for words in the blanks ( a ) and ( b ). The same

word (s) cannot be used twice.

(1) Mysisterwas( ) (a)C J)C )b ){ ) totheparty.
D having @ at @ sad @ invited & not ® been a b

(2 You{ )Ca)( )Y(b)( ) muchtoday.
@ had @ eat @ not @ better G oo a b

@ ¢ YO ) Ca)(C YCb YO )Y{ ), wekeptonstanding from Nagoya to Kyoto.

® thetram @ no 3 being @ there ® seat ® in
@ vacant a b
' 13 | 14
4) Would ( ) (a)( )Y{(b)( )ca?
@ using @ my ® you @ this ® mind a b
: 15 | 16
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[4] Put the three sentences in each box in appropriate order so as to make a meaningful story. Then

mark on the answer sheet one correct answer from the four options,

HFREREOBLRICL Y, Bl LEwa, o

(Newsweek January 16, 2018)

D Ty @ T ® A7 @D T 17

FIEERBOBAIC LY . B - LEHA,

(SUSHI & BEYOND Michael Booth, Vintage Books)

@ 74—y @ ATy @ AouosT @ v-Tod 18
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[5] Read the following article and answer the questions below.

ERHERBOBRAIC LD, BRIV LEEA,

E (13 - 5)



EPHEREOBRAIC LD, BEW = LEEA,

{1) Refer to the underlined part [ A 1. Choose the best word below to fill in the blank.

D Disappointingly @ Encouragingly

(The Japan Times ST June 2, 2017)

@ TFearlessly @ Satisfactorily

19

{2} Refer to the underlined part [ B ] and [ C ]. Choose the best combination of the words below to

fill in the bianks.
[B] [ C]
(@ | Being ignored Being interrupted mid-sentence
@ | Being interrupted Being igncred
® | Being interrupted mid-sentence i Being interrupted
@ | Being interrupted Being interrupted mid-sentence

(3) The underlined part [ D ] divisive is closest in meaning to .
@ proper @ useful ® troublemaking @ relevant

(4) Which does the underlined part [ E ] imply? Choose the best one from below.

He was rude enough to interrupt us,

He was too reckless to drive a car.

® @ e e

He was too shy to strike a conversation.

He was courteous enough to give way to us.

(5) The underlined part [ F_] is closest in meaning to

® e

he was able to have a pleasant conversation.

he just tried not to be rude and arrogant.

he just gave an impression of being rude and arrogant.

he could only start ar: unfriendly conversation.
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(6) Which paragraph is the most likely to start with the following sentence? Choose the best one from

below.

So, what's the alternative?

@ paragraph (@ paragraph|-5" & paragraph @ paragraph

24
(7) What is NOT recommended in the article?
@ Find something you have in common to start a conversation.
@ Introduce yourself when you have a conversation.
(3 Be considerate of others when you start a conversation.
@ Listen carefully, and decide when to join a conversation, 25
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[6] Read the following article and answer the questions below.

EVEHEREOBSAICL Y | BEELERA,
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FIFEREOBACL 0 | Bk LEEA,

- ishers)
(PREDICTABLY IRRATIONAL Dan Ariely, Harper Collins Publisher
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(1) Inparagraph [i1.]

® 6 6

, the author makes the point that

we unconsciously compare things that have similar aspects.

we are not influenced by anything when we compare things,

we avoid comparing things that have something in common.

we should have absolute criteria when we compare things.

(2) Choose the best combination of words for the blanks [ 7 1, [ 4 Jand [ ¥ 1.

26

7]

[A]

[ ]

the contemporary

the other colonial

the colonial that needs the
| new roof

the colonial that needs the
new roof

the other colonial

the contemporary

the other colonial

the colonial that needs the
new roof

the contemporary

®| e | e,

the contemporary

the colonial that needs the

i new roof

i the other colontal

(3) Choose the best one for the blank [ = ].

O why we must compare things

€

where the sidelines exist

@ when we make choices

@ how relativity works

(4) Refer to the underlined part [ & 1. Which illustration is appropriate?

@
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(5) Choose the best expression for the blank [ # .

@ final choice @ alternative @ secretoption @ another decoy 30

(6) Choose the best word for the blank [ # 1.

@ attractive @ complicated @ effortless @ exhausting 31

{7} Read the paragraph 10 . Choose one true statement.

We cannot simply compate Rome and Paris, so people would choose other cities.
When a third option is offered, people tend to choose that one.

Rome without breakfast makes Paris with breakfast look less attractive.

CROECHS

When we choose Paris or Rome, we should not think of the free breakfast. 32

{8) Choose the best example which shows “the decoy effect”.

O ABC News Subscription @ Wide Screen TV Set
Internet only $60 20 inch $200
Print only $120 25 inch $250
Internet +Print ~ $125 30 inch $300

® ABC Englishk class @  Business clothes
for under 6 years old $50 Jacket only $70
elemnentary (from 6 to 12)  $60 Pants only $50
junior high ( from 13to 15) $145 Jacket + Pants  $120

33
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